MF BT RSP HRLE

1140312 EAE BT sl P00 AR P HEl P002
;?E'J SO, NOXx CO HCL | OPAC | MASS | SO, NOXx CO HCL | OPAC | MASS
b
—F i FEc |- F 0 L | FER  EE (oF | FFE -0 | Ak | B
. g lor | e [ FE s s | e | s | e | BRI s | s

ppm ppm ppm ppm % |Nm3/hr| ppm ppm ppm ppm % | Nm3/hr
00:00 1=hE (e 0 (R =& (e 5.55 27.38 19.64 9.26 0.85 |77239.28
01:00 (e (e (3 =0 B3 (e 3.49 29.66 8.48 10.73 0.86 |75914.21
02:00 1=hE E3 1508 e eding fEf 2.53 26.69 14.76 8.12 0.86 |75402.69
03:00 (B3 1= (B3 (e (B = hE 3.60 24.79 12.63 9.62 0.88 [74555.30
04:00 1=hE E3 1508 e g fEf 3.02 27.56 13.45 9.04 0.87 |77043.55
05:00 (B3 1= (B3 (e (B 1FhE 3.62 31.61 5.83 9.65 0.87 |[75489.51
06:00 1=hE =8 1508 e eding fEf 3.37 28.02 7.92 7.37 0.86 |74917.96
07:00 (B3 1= (B3 (e (B (e 3.45 29.93 9.07 8.49 0.86 |75725.91
08:00 1=hE E3 1508 e eding fEf 3.61 28.25 | 17.01 9.59 0.85 |76260.04
09:00 (B3 1= (B3 (e (B 1 3.91 28.86 10.71 9.59 0.86 |74551.21
10:00 1=hE 3 1508 e g fEf 2.66 19.68 5.50 8.09 0.85 |74946.95
11:00 1= 0E = hE 1= 0E 0 1= hE (ERIE 2.76 21.35 | 11.32 9.59 0.87 |74763.54
12:00 1=hE =8 1508 e g fEf 2.59 22.77 13.82 7.16 0.86 |73432.34
13:00 (G 1= (G (e G 1= 2.80 23.85 11.58 8.48 0.86 |73471.76
14:00 1=hE =5 3 e eding fEf 2.57 25.00 9.57 6.89 0.85 |74957.83
15:00 B3 = 3 =3 =g fEi 2.72 25.39 13.52 8.70 0.85 |75133.85
16:00 1=hE =5 3 e edind s 2.53 25.09 9.38 6.88 0.86 |74913.88
17:00 1= 0E = hE 1= 0E 0 1= 0E 0 2.57 22,51 9.10 7.85 0.85 |75149.66
18:00 1=hE =5 3 e eding fEf 3.35 21.60 | 10.40 7.06 0.87 |74526.93
19:00 (G 1= (G (e G 1= 3.37 25.82 11.43 8.25 0.86 [75265.86
20:00 1=hE =5 3 e eding fEf 3.33 24.21 11.64 8.97 0.87 |74307.64
21:00 (G 1= (G (e (G 1= 3.04 23.53 10.41 8.06 0.85 (7477858
22:00 1=hE =5 3 e edind s 5.38 20.76 16.02 8.04 0.84 |75163.50
23:00 B3 = =% s 0% fEi 2.68 24.03 12.24 7.77 0.85 |73195.23




